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QUESTION 1

A client application asynchronously receives the message sent to a JMS Queue. The client is going to send a response
to the sender.

Which two JMS Header fields from the original message are used to send the response? (Choose two.)
A. IMSResponseMode

B. JMSTimeStamp

C. JMSDeliveryMode

D. JMSCorrelationID

E. IMSReplyTo

Correct Answer: DE

Reference: https://docs.oracle.com/cd/E19798-01/821-1841/6nmg2cpog/index.html

QUESTION 2

You are analyzing the JMSDeliveryMode header field for all the messages for all the queues deployed to your
JMSServer.

Which two values do you expect to find for this header? (Choose two.)

A. PERSISTENT

B. NON_PERSISTENT

C. TRANSIENT

D. PERMANENT

E. MULTIMODE

F. EXACTLY_ONCE

Correct Answer: AB

JMSDeliveryMode specifies PERSISTENT or NON_PERSISTENT messaging.

Reference: http://docs.oracle.com/cd/E12840_01/wls/docs103/jms/fund.html

QUESTION 3

Review the following WLST commands.
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serverConfig> createSystemResourceControl ( ‘mymodule’, ‘/ull/app/mymodule.xzml’,
Target=‘clusterl’)
serverConfig> enableSystemResource ( ‘mymodule’)

What happens when these commands are executed? (Choose the best answer.)
A. A diagnostic module named mymodule is created in the domain configuration file and it is enabled on clusterl.

B. A JMS module named mymodule is created without changing the domain configuration file and it is enabled on
clusterl.

C. A diagnostic module named mymodule is created without changing the domain configuration file and it is enabled on
clusterl.

D. A JMS module named mymodule is created in the domain configuration file and it is enabled on clusterl.
Correct Answer: C

Reference: https://docs.oracle.com/middleware/1213/wls/WLSTC/WLSTC.pdf (73)

QUESTION 4

You are creating and configuring a production WebLogic Server (WLS) domain that is highly available. Which three
WebLogic Server features allow you to best accomplish this requirement? (Choose three.)

A. Multiple standalone managed servers
B. Load Balancer

C. Cluster

D. DNS caching

E. Whole-server migration

F. Machine migration

Correct Answer: BCE

B Load balancing is the even distribution of jobs and associated communications across the computing and networking
resources in your environment.

C: In a WebLogic Server cluster, application processing can continue when a server instance fails.

E: Migration in WebLogic Server is the process of moving a clustered WebLogic Server instance or a component
running on a clustered instance elsewhere if failure occurs. This is called Whole-server migration.

Reference: http://docs.oracle.com/cd/E23943 01/core.1111/e10106/aa.htm#ASHIA4083

QUESTION 5

You are under Oracle Linux and you find the process ID of the WebLogic Managed Server Instance:
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ps —-ef | grep ManagedServer
oracle 19142 19090 26 15:08 pts/1 00:00:16 /usr/java/jdkl.7.0_60/bin/java -server
-Xms256m -¥mx512m -XX:MaxPermSize=256m -Dweblogic.Name=ManagedServer

. .weblogic.Server

Which two command-line options can you use to issue a thread dump to examine the server for stuck threads? (Choose
two.)

A. jstat -class 19142

B. java weblogic.utils. ThreadDump 19142
C. kill -5 19142

D. jstack 19142

E. kill -3 19142

Correct Answer: DE

Reference: https://www.ateam-oracle.com/analyzing-thread-dumps-in-middleware-part-2-2
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